AJGS/400 SCREENING TEST (INITIAL KEY)

JUNIOR ASSISTANT — CUM — COMPUTER ASSISTANT IN REVENUE DEPARTMENT
NOTIFICATION NO. 23/2021

SECTION - A
GENERAL STUDIES AND MENTAL ABILITY

Q1) Which South American Country prepared a new Constitution?
Ans: Chile
& A8 £ 9005 BF0 (5 0723250, SOSTRITBNZ0E?

Ans: OO

Q2) “Hyderabad Declaration” is associated with
Ans: E-Governance
207l BEBAS" &3 1808 ¢3S BRE H020HODSE?

Ans: 2 -838)Q)

Q3) Which Civilian award of India was given to Satya Nadella?
Ans: Padma Bhushan
DS s TTFIQ 2305 ¢h (2065 0 & @Y & FTEDODOE?

Ans: A2 BrAEd

Q4) The “Party gate” Scandal is associated with which country?
Ans: UK
"8 BE" F,05S O BT H0220H0DSE?

Ans: O°3



AJGS/400 SCREENING TEST (INITIAL KEY)

Q5) Who is the Head of the International Monetary Fund Asia and Pacific
department?

Ans: Krishna Srinivasan

£90HT 0D (€595 AE eOST — JVDE €9¢I5ZICE o307

Ans: £)R BATOS

Q6) The Rank of India in the World Competitiveness Index 2022 is
Ans: 37
10005 ¢S eheh § DS 2022 &' 23S S$T3$ T°s08

Ans: 37

Q7) Where is the Head Quarters of International Atomic Energy Agency (IAEA)
located?

Ans: Vienna
90HT°S0D e 38§ DB (IAEA) (D57 ST5AH0 D8 &0E?

Ans: Qo)

Q8) “Maitri Diwas” is celebrated on 6" December by India to commemorate the
diplomatic ties with which country?

Ans: Bangladesh

D T30S T DOV B0 "D ANV X 2rSEHTI0 3020 6 &5 BAS
2BBYSV0ENOR.

Ans: 2033
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Q9) Maharashtra Government has recently renamed Aurangabad as
Ans: Sambhaji Nagar

2356 TEOMeE DB 0T 129296550 & DO 578 0.

Ans: 30272830

Q10) Bharat Subramaniyam is associated with which Sport?
Ans: Chess
2556 02260000 & (888 H0D0BODS a3°e8d?

Ans: T

Q11) Olaf Scholz was recently appointed as Head of which country?
Ans: Germany
23350 O TFIL OIS T 207D ) ) EASTSE0?

Ans: 238

Q12) “Pariksha Sangam” portal was launched by which Institution?
Ans: CBSE
OO H0N0” T PSS A &) DOY (BN

Ans: 0.2).09
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Q13) “Pegasus Allegations”committee, constituted by Supreme Court, is headed
by

Ans: Justice R.V. Raveendran
"DV STH"D 3 N0 §O DOHAODS Ee3 955308 eSEB0?

Ans: 29 8. D.80(5S

Q14) Who was conferred with the 51 Dada Saheb Phalke Award ?
Ans: Rajani Kanth
51 & GPE T o°e) 2 0) @°0 IB8 |DEPS0 TBADDR0E?

Ans: 52ds0&

Q15) What is the name of the mobile app launched by the Government to
facilitate “One nation, One Ration Card”?

Ans: Mera Ration

208 B30, 23 BAN 50" D OFBB0 TANEAE To(& (D20e550 (PB0D0D
JNZ3SO AR D DaEI?

Ans: H0° BAS

Q16) Which Country is the Chair of BRICS in 20227
Ans: China
1852 (BRICS) 30 2022 &5° & T¥0 9358 5 55300

Ans: 30
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Q17) When is the “National Girl Child Day” celebrated in India?
Ans: January 24
2RSS T3F0CS 23305 PO ST YT " DI BEYFOETS?

Ans: 23358 24

Q18) What is the name of first Indigenous Aircraft Carrier (IAC) Commissioned
recently in India?

Ans: INS Vikranth

2rSEST30S° ReE3HO (FPS0D0IDGES BNES HIBB DS s I8 (IAC) DS
DaNe3?

ANS: 3.0Q.00.0|5°0S

Q19) Where is the Headquarters of National Cadet Corps (NCC) located?
Ans: New Delhi

230D S°5BE 526 (NCC) (DTS ST$AN0 D85 G0E?

Ans: 358 é’g@

Q20) What is India’s Rank in the global production of wheat?
Ans: Second
10T T8 Esed)BES’ 2B HTIF0 T°508 DOeh?

Ans: 3o
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Q21) The play “Neel Darpan” is associated with the following revolt :
Ans: Indigo Revolt
DOREIS T T80 &5 (B0 SBINTED DTS NN GO

Ans: K087 NS0

Q22) Who is called “Lokahitwadi”?
Ans: Gopal Hari Deshmukh
"ESEPHTE” Q) JIB DN

Ans: S 58 T¥30D

Q23) GST was first implemented in which State in India?
Ans: Assam
2PSESTFOS GST Q IEHE3 T8 & TR0 €950e0 TDFEN?

Ans: )0

Q24) “Borra caves” in Andhra Pradesh were formed by which of the following
rivers?

Ans: Gosthani
&0 (DBT S "So° H5Fen” (808 e3S” & S T ST° DS HTF00?
Ans: FQ
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Q25) Which of the following writs protects the individual to produce before the
court?

Ans: Habeas Corpus
&3 1808 8E o Q 8E 558 §D S0 TSNS, BOCHTROE?

Ans: T3rDOH SO

Q26) Right to Education was inserted through which Amendment to the
Constitution?

Ans: 86" Constitutional Amendment
&) T°23°$00 DeIB€d DO T3° 5T° DE°§ s780Y POCNNEHDB0E?

Ans: 86 & T°2r§0H 0388

Q27) Which provision of Fundamental Rights is directly related to the
exploitation of children?

Ans: Article 24

BPHODE TPEO BwEy N ADORS JHM™ DV (30 SDAED IFHoNEE
Q02205H0D0E?

Ans: 039S 24

Q28) The Andhra Pradesh Reorganisation Act was passed by the Parliament
in

Ans: March, 2014
30(SS (DTT D255 VESE TR FETO0EN I STFEOD0E?

Ans: 3r8), 2014
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Q29) Panchaythi Raj Day in India is observed on
Ans: 24™ April
ePSEST330S HOTTONBT2E OSHIT) & B2 23505 H00eFE?

Ans: QDS 24

Q30) what is the time of “Question Hour” in the Parliament?
Ans: 1lamto 12 noon
255 FTR0ENS (DTN BT DAY BONOA.

Ans: 11am o 12 noon

Q31) How many Lok Sabha seats are allotted to Andhra Pradesh after
reorganisation of Andhra Pradesh?

Ans: 25
&30(8 1DTF D528 SKared 30(ES (DBT 50 DY, '8N Frren) JEFoN0TE0?

Ans: 25

Q32) Under which section of Andhra Pradesh Reorganisation Act, was
Polavaram declared as a national project?

Ans: Section 90

30(SS IDTT VeI 53VESE HROST D VES 180 SFOHB0 2FBOH [FBY T
10830520508 ?

Ans: 28 90
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Q33) How many Schedules are there in the Andhra Pradesh Reorganisation Act?
Ans: 13
0[S (DTT 2555 0ESE QO D) AGT L0 S 0N ?

Ans: 13

Q34) As per Andhra Pradesh Reorganisation Act, how many Legislative Council
seats are allocated to Andhra Pradesh and Telangana?

Ans: 50-40

230(5 (DT $)S583955VESE IO (HSBE0 ), FTONN0BE T SOoINTT
S0BAN BOOTPE) T (ar©OF) TEFON0T BY?

Ans: 50-40

Q35) At present how many States and Union Territories are there in India
Ans: 29 States, 8 UTs
2rSEST30SS |HNB0 D) T aFeN OO Zo(BOFOS [FFoTren =) 0n?

Ans: 29 O°(arew, 8 30(BarOeh (0N

Q36) As per the 13" Schedule of the Andhra Pradesh Reorganisation Act, which
major port in Andhra Pradesh is developed by the Central Government?

Ans: Duggirajapatnam

0[S 1DTT Ve 59DEGE HLOS'D 1385 PSS 1DF°B0 @0 (HTF S & 1D
IS5, SO0 @99 Q TR0

Ans: o0 0
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Q37) Who is the guardian of the Fundamental Rights of the citizens of India?

Ans: The Judiciary
2EBTE DA (lQE B0 DI HOBE X By?

Ans: 7505 83563

Q38) Koneru Rangarao Committee was appointed to resolve the following
problems:

Ans: Land-related problems
I 3080°%) 03 2 DN HOXLTVE DODMOTTE

Ans: 2557 S0200E DD

Q39) ‘Sribagh pact’ was signed in the year
Ans: 1937
B2rh 2,0)050" & H0S$I50 S 28A0E?

Ans: 1937

Q40) Which state has started ‘Kasi Yatra Scheme’?

Ans: Karnataka
Q T3 192065 50 'SRAT(S DAY’ (PE0D0DOA.

Ans: 307 &%

10
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Q41) A6, C10, E16, G24,
Ans: 134

A6, C10, E16, G24, ____

Ans: 134

Q42) Menu : Food :: Catalogue :
Ans: Books
0D 1 8GO0 :: 2T

Ans: HAseew

Q43) Which of the following Ven diagrams correctly shows the relationship
among classes “Male, Students, Patients”?

Ans:

BN, DGLEN, FHEN” & ST S DOVOTE), & §o0d O IS Do
QB VOO

Ans:

11
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Q44) Six Students A, B, C, D, E and F are sitting around a table as per the following
conditions.

(i) A and D are sitting opposite to each other.
(ii)  Bistothe left of E.
(iii) Cis between AandF.

Who is to the right of D?

Ans: Cannot Say

&3 (808 Q2200880 e 0HEI0M A, B, C, D, E 083N F @90 &8 deesdhen 2.8
200 THEY® §r 0 )R 0.

(i) A OO D e 20885550 €930 O H5°0 )7, &.
(ii) E § D560 I B H°0 ) .
(i) ADB8AW F @ 0§ C 85080 )™ e.

D & S0ABIS G5)0 SS?

Ans: 3B

Q45) CAR : TUB :: BUS :
Ans: SOC
CAR : TUB :: BUS :

Ans: SOC

12
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Q46) Read the following statements and choose the correct conclusion that
follows.

Statement 1: All Pens are Caps.
Statement 2: Some Caps are Pencils.
Conclusion (i): Some Pens are Pencils.
Conclusion (ii): No Pen is Pencil.

Ans: Either (i) or (ii) only follows
& 180A DIITOR A, 3°¢3Q @ NIO0T OB DB JotHToR.

19590 1: Q) DAY SPaew.
(D50 2: £ S aren 0 HE.
DB (i) : QY 0000 YD .
DABE (ii): 0 VD). DO 5°E.

Ans: (i) S (i) Sr(hadd ©@DIBIT AN

Q47) From point ‘A’, a person travels 5 Km towards East, next 8Km towards
South and then 11Km towards West. He reached point ‘B’. The minimum
distance from ‘A’ to ‘B’ and the direction of ‘B’ from ‘A’ are

Ans: 10Km to South West

‘A 3D 0B, 28 358 5 8.0, SrB0)BD), 0N 8 8.0, B8 0 I, @ENNE 11
8.20. DG DY 1O ‘B S8 Tk ‘A Q08 ‘B 80 K> ) TS0 08050
‘A QD0& 'B' &I 80008.

Ans: T[S S 10 8..

Q48) Pointing to a person, a man said to a woman, “his mother is the only
daughter of your father”. How is the woman related to the Person?

Ans: Mother

2.8 558 D UEDIF, 208 HENW 8 (R & Ber ), BB O & $0(B8 DB
Eresa”. €3 5588 €5 | $0¢ds Hed HOO0 DE3?

Ans: $&

13
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Q49) Choose the missing letters in the following letter repeating series:
ab_a cab_ac_

Ans: bcbc

& (808 HSTSeh 8.5 1363 S SDODS @08 T°) BH0H?

ab_a cab_ac_

Ans: bcbc

Q50)

/\ Employees
2

12 14 Women

Players

In the above diagram, Circle represents Employees, Rectangle represents
Women and Triangle represents Players.

Then the number of players who are women but not employees are

Ans: 15
20
&&férbw
/A
5/ ¢ a
12 5,
15 14 gw
/ 30 \
eSO

14
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2 HE0S $9B0 GEHOR, BEHSISIEN (O OO (HZDHBHN SEPFD
PSVATOTARM

SESHEN TR (R ST oS

Ans: 15

Directions for Q 51 to Q 55: Use the following table to answer.

The following table shows the number of recoveries (in thousands) and number
of deaths (in thousands) with effect of Corona for 5 months, January to May of
2021 in 4 Countries P, Q, R and S.

P Q
Country
Name Recoveries | Deaths (in | Recoveries | Deaths (in | Recoveries | Deaths (in | Recoveries | Deaths (in
(in thousands) | (in thousands | (in thousands) | (in thousands)
thousands) thousands) | ) thousands) thousands)
Month
January 20 15 25 20 40 20 30 14
February 30 12 30 16 45 15 35 12
March 35 10 30 14 50 14 38 10
April 40 10 45 12 52 12 39 10
May 50 08 60 10 55 10 40 08

Q51) In which Country are the maximum number of deaths recorded across the
five months of 20217?

Ans: Q

Q52) In which country is the percentage of growth in recoveries in the month

of May compared to the month of January the maximum?

Ans: P

15
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Q53) In which month is the average difference between recoveries and deaths
across all the 4 countries the minimum?

Ans: January

Q54) The average difference between recoveries and deaths across all the 4
countries in the month of April is

Ans: 33 thousands

Q55) The minimum percentage of change in deaths in May compared to January
is observed as

Ans: 42.86% in the country ‘S’

ABreSSen Q 51 aHoB Q 55 1 Doarcrire S €5 (S08B HEFED 503048,

&5 1808 H¢3E P, Q R SDO3M S 98 arendy B0 2021 °Q 5 Toen 23558
08 T HBB LB (H2rS0S FenSd) 8 dops (S0 ) HBAM ST
[0S (FOS) ©% AFAN0E.

P Q R S
%0
FenFY) | DBTe | Fenfd) | S | Fendd) | Hdgre | Fenf) | Ddere
o8 QOPS o) QoW o8 QoW o) QoS
Doy | @BeS) | dows | @o) |[Sops | Bo) |Sops | @od)
Se (S0 (S0 (Sof) (Sof)

2888 20 15 25 20 40 20 30 14

N EANS) 30 12 30 16 45 15 35 12

358 35 10 30 14 50 14 38 10

DS 40 10 45 12 52 12 39 10

BN 50 08 60 10 55 10 40 08

Q51) 2021 S €8 5 FOO ZeNIHTR, 2 BF0 S 965D NSETEN SZPSASTIo0?

Ans: Q

16
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Q52) 23558 IO FOR, 3 IO EenBod) T8 DBEHAO F°eH0 & BFOS” DB
&) O?

Ans: P

Q53) T°eNH BT FENNTOT, FenBud) 78 DO 80 HOAN BT dows &
0855 2357 S ) TS QNS ™ &0 E?

Ans: 223558

Q 54) DS IO, & TN BTN FNNF Fendod) 8 Sows F 8w
BT DO B0 NS Bered disen?

Ans: 33 Jew

Q55) 2358 JOS FOR, D T S BT S FH0 SN0 T KeDAOTISAIE
D T30 S Dos Fe50?

Ans: 'S' T30S 42.86%

Q56) The mode of the series: 6,4,4,6,8, 10,3,6, 2 is
Ans: 6
13€3:6,4,4,6,810,3,6,2 22570850

Ans: 6

Q57) If the Mean is 40, Mode is 34, then the Median is
Ans: 38
9080500030 =40, 2ITVFEN =34, 90N NSNS0

Ans: 38

17
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Q58) The Variance of 50 values is 64. If each value is doubled, then the variance

is
Ans: 256
50 DENI DY 64. (DB DN BEI0D) BRI e

Ans: 256

Directions Q 59 and Q 60: Use the following Chart.

The following Pie chart shows the expenditure per month of a family.

% ||_EIII = Il = 1|\

N

i Bducations | (1]})
=, 30% =z|II=N //
= IIII_E =
Home needs _§m|l| Education
| )
| Medicine @ Others

Q59) If the family total expenditure is ¥ 14000 in a month, the expenditure on

Education is
Ans: T 4200

Q60) If the family expends ¥ 2000 on others in a month, then their expenditure

on home needs is

Ans: ¥ 8000

18
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ATPISED Q 59 HEA Q 60: &3 (S0B DEIIV D I A0SO,

&3 (808 Pie B0 2,8 000220 BNEY FODE DI ATV,

\
NAY \
:\ o83 @Sdoeen
=
==
/
DS /

9063 @S0 en =l D88

|
T Bdso @ QeSBS0en

Q59) 2.% JS e Zoeno A 14000 [ SrP00eN 0N, DS 20 °0 D)
Ans: 4200 83Fr0DeN

Q60) 2.8 SOS" & F0EN02)0 TBNEY PV ‘BSENEND’ T 2000 90N, ROES eX5OTe

N 8 P
Ans: 8000 85°rode

Q61) Ribozyme is
Ans: RNA with catalytic activity
BE B S

Ans: RNA &(&)058 <585 D8 €080

19
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Q62) Living Fossil is
Ans: Ginkgo biloba
28 Fer30

Ans: A0S BSD

Q63) The ATP production through respiration is called
Ans: Oxidative phosphorylation

30808 T° ST° €5¢8) @900 ATP Q eD0EFEd
Ans: e833¢3S IFHOBAS

Q64) Cryopreservation of gametes is done in

Ans: Liquid Nitrogen at -196°C

HOTZTH Dezed> BEY 9B H0SE.e BAS® T
Ans: (385 S(¢523Q & -196° C S

Q65) Skull of mammals is
Ans: Dicondylic skull
§ 3o’ HIB 8%0

Ans: ZsP0BOS HB

Q66) Number of Incisors, Canines, Premolars and Molars in humans is respectively
Ans: 8-4-8-12
S5 Booehseen, BEEEN, IS SIS, e|HTIS LIS DOS SO’

Ans: 8-4-8-12

20
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Q67) The Indian who got the Nobel Prize in Physics is
Ans: Sir CV.Raman
2T DET(Q0S STBS 22500 FOBS 2SS ANCE

Ans: OO0 .9.0°0DQ

Q68) The Scientist who discovered Neutron is
Ans: James Chadwick

QSR 0 8D, BN 3E0?

Ans: Z23) OS5

Q69) Radar is used to

Ans: Detect and Track the objects

&2 (808 Q8 T°ed & G HTIPAT K

Ans: 59 HOO0D HOAN e3Q NOO0THEIEL

Q70) Non-Stick cook ware is coated with
Ans: PTFE
S VE FBen TS §¢ TS

Ans: PTFE

21
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Q71) Which of the following is/are a direct tax?
Ans: All of the above

&3 1808 ae3eS” (D58 D), IO?

Ans: 2090) A5»

Q72) Who is the Chairperson of NITI Aayog?
Ans: Prime Minister

Q& T BB DEIS DeIK?

Ans: (DTS O[3

Q73) Disguised unemployment is the common feature of
Ans: Agriculture

19929%), ABE A & BOKD) D erden ©F €0

Ans: 553000

Q74) How many National Highways does the state of Andhra Pradesh have?

Ans: 38
30| (DTF T(ROS” D), 230N BLPCTEEN ) 0N

Ans: 38

Q75) Which committee recommended allowing entry of private companies into the

insurance sector in India?

Ans: Malhotra Committee

2rSESTI0S DS $080SE [BIE HOXDE (HIF0 @ NNBOTOD DIFPSN

DS EES AH?
Ans: 363@53,8@" E0¢3

22
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Q76) The present Vice-Chairman of NITI Aayog is
Ans: Suman Bery
(VS0 D& TN D BEIS IS

Ans: 0NS B8

Q77) The present Governor of the Reserve Bank of India is
Ans: Sakthi Kantha Das
NS0 623D ¢ 237508 &89 QOGBS (5380

Ans: $85°0¢% 70

Q78) Demonetization was implemented in India on
Ans: November 8™, 2016
2 SSTFOS” ) S B N TS HOSSIBE0

Ans: 35020 8, 2016

Q79) Which scheme was launched to help farmers get a better price for agricultural
produce and increased income ?

Ans: Krishi UDAN Yojana

D DHEO N5IT 0D Ered )N BAOK DR S8 ©DoTer &eh e
SPAN), 0N OD

Ans: $) G OrPR3

23
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Q80) Narasimham Committee was related to
Ans: Banking Structure Reforms

SB0570 E0¢3 & H50220H0DSE

Ans: 250800 S0 SO BN

Q81) Cuddapah system is composed of

Ans: Gneiss
E25D B 553D &S A IO
Ans: D

Q82) The longitudinal valleys of Himalayas are called
Ans: Doons

TIrOATFOS’ SED STHOD JDHOETS?
Ans: &rQ)

Q83) The Highest peak of Aravallis is
Ans: Guru Shikhar

ST S0 IBS FPBO

Ans: & 30

Q84) ‘'Mango Showers' are associated with
Ans: Thunderstorms
'S sOfF 098 BAS H0200850 DA &od

Ans: &0

24
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Q85) Pulicat lake is a
Ans: Brackish water lake
DO SSNY 28

Ans: &))eE3 HEN)

Q86) Most of the Himalayan Rivers are typical examples of

Ans: Antecedent drainage

€985 §EE PITON (2°0655) VN o) DD D E 955D TP HEIEN
Ans: DOE3DTOLE (B3

Q87) Which of the following is known as the Garden of Andhra Pradesh ?

Ans: Konaseema

&8 BH35¢3S BA 0| |DTB TB0EY GT°59580 (MBS) @ €900
Ans: §50:5

Q88) Acacia, Cacti, Khejra and Palas are the main plant species of the
Ans: Indus Region

TR, 5°8, T2 DB DO 998, 2N GO (050
Ans: L0 (o050

Q89) Karewas are
Ans: Lacustrine deposits
EB3en

Ans: O30 AT Jen

25
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Q90) Nallamala hills are extended between

Ans: Krishna — Penna Rivers

D0 FOGBEN 0 SN NS QB0 &) ?
Ans: )l — D) dCew

Q91) Who is the head of Andhra Pradesh State Disaster Management Authority?
Ans: The Chief Minister

&30(3 (DBF &S DI DB 55769 HDOD €9C5EICR eB?

Ans: 0§ O(ed

Q92) What was the most recent worst man-made industrial disaster in Andhra
Pradesh?

Ans: LG polymers Gas leakage
30| (0BT S & 08 500 ¢S BOAS 337565 DB B(F°a0E DD
Ans: 0S.22. OB s OTeS

Q93) World Environment Day is celebrated on

Ans: 5" June

1900 DTEIEED ES'5 J63eI0 &) E23° BB 0ETEd
Ans: 237 5

Q94) Which country held the conference ‘Kyoto Protocol’?
Ans: Japan

B TS DXTSF0D AESTPO0NS TFO ?

Ans: 27°Q

26



AJGS/400 SCREENING TEST (INITIAL KEY)

Q95) Bio-Gas mainly consists of

Ans: Methane

2B PSR (226 PO50Y) (DT 9 DEFO
Ans: DB

Q96) A flash flood is a flood that

Ans: Occurs suddenly, unexpectedly and for a short duration
35028 JBS I

Ans: @5 BNT €S0 BN $50y 3336 S KON

Q97) The most catastrophic weather or climate related disasters in terms of lives lost
are

Ans: Droughts
(PETTTP OSSPSR €963 SNPITN &3S D00 D
Ans: 30N

Q98) In which year did the word 'Sustainable Development’ come into existence?
Ans: 1980
D 0555506 VTN IR" €93 D0 FESE FDHOE?

Ans: 1980
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Q99) UNCED stands for
Ans: United Nations Conference on Environment and Development
UNCED R3¢

Ans: United Nations Conference on Environment and Development

Q100) Basel convention is related to

Ans: Trans -boundary movement of Hazardous wastes and their disposal
230 ET LIS B0 H0VOHODIA

Ans: SPQEE HANTTTEN o3°¢3 T B¢ 20 DAY €500

28



AJGS/400 SCREENING TEST (INITIAL KEY)

SECTION - B
GENERAL ENGLISH

Read the following passage, comprehend it and answer the questions based on the
passage (Q 1071 - Q 105):

Translation is not an easy job. It is something that requires a special skill. One can
acquire this skill by training and by practice. It is not simply replacing Source Language words
by Target Language words. Words have their contextual and cultural meanings. This makes
the translator consider all the possible options that are available to him/ her. Then he/ she can
choose the most appropriate equivalent in any given context. Translation is, thus, a process of
decision—-making. The closer the languages belong to the same family, the lesser the problems.
For example, any Translation from one Indian language to another would be much easier than
that from a foreign language into an Indian language. Translation is like tight-rope walking.
One has to overcome many problems for successful and accurate translation. The slightest
miscalculation would cost the translator dearly. He has to handle the problems carefully and
skilfully. Some languages like English permit lengthy sentences. In English you can have a
sentence running into several lines or even constituting a paragraph by itself. Yet, the sentence
may be easily comprehensible and be very clear. On the contrary, in Telugu we cannot have
long sentences.

Q101) Translation is like
Ans: Tight-rope walking

Q102) Name the two languages mentioned in this passage.
Ans: English and Telugu

Q103) According to the passage, which language allows lengthy sentences?

Ans: English

Q104) Translation requires

Ans: Skill and Practice

Q105) Words have meanings and the translator must understand both
meanings.

Ans: contextual and cultural
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Q106) Complete the sentence using the correct form of verb. The plane at 6.15.

Ans: leaves

Q107) Do you usually go out Saturday evenings?

Ans: on

Q108) Select the most appropriate idiom for ‘extremely happy'?
Ans: On cloud nine

Q109) As strong as a
Ans: Bull

Q110) Choose the correct meaning for the idiom ‘A red letter day'.

Ans: An important day

Q111) Select the word that is most appropriate substitution for the given group of words.

An organization or person promoting the welfare of others.

Ans: Philanthropic

Q112) Choose the one spelt correctly.

Ans: Accommodate

Q113) Find out the one-word substitute from the following:
A remedy for all diseases is
Ans: Panacea

Q114) Find out the one-word substitute from the following:
A hundred year old man:

Ans: Centenarian
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Q115) Choose the correct Spelling of the word from the given options.

Ans: Grammar

Q116) "If you don't keep quiet, | shall shoot you”, he said to her in a calm voice. (Change the
sentence into indirect sentence.)

Ans: He warned her calmly that he would shoot her if she didn't keep quiet.

Q117) | told him that he was not working hard. (Change the sentence into direct speech.)

Ans: | said to him, “You are not working hard.”

Q118) Coffee is more popular than tea in Tamilnadu. (Choose the correct Positive Degree for
this sentence.)

Ans: Tea is not as popular as Coffee in Tamilnadu.

Q119) He said to me, "What are you doing?” (Choose the correct form of Reported speech for
this sentence.)

Ans: He asked me what | was doing.

Q120) His father ordered him to go to his room and study. (Change the sentence into direct
speech.)

Ans: His father said to his son, “Go to your room and study”.

Q121) Choose the correct sentence from the following sentences.

Ans: He has been observing our surroundings.

Q122) Choose the correct sentence from the following sentences.

Ans: Economics deals with financial matters.
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Q123) Choose the correct sentence from the following sentences.

Ans: All students must clear their dues within a week.

Q124) Chinese language is difficult. (Choose the correct article from the given options)
Ans: The

Q125) Mahatma Gandhi was born ____ 2nd October. (Choose the correct preposition from the
given options)

Ans: on

SECTION - B
GENERAL TELUGU

Q126) [0 ¢3S’ ‘B30’ B0 HT*5A0NS0 52 & HO0I0&?
Ans: SOHS0

Q127) 'S8 )50" 30 DT°SODNS0
Ans: §°6%

Q128) 4,850 ©0TY?
Ans: 83580

Q129) 'S’ 50 DHed B0
Ans: &3

Q130) QL8
Ans: 250(C0

Q131) GXE AN TED'S’ G0 DFI0 VBN, TSN e0Ty?
Ans: QS

Q132) (DS TG §ONE TSN TR0 DL @) & - 8050
Ans: H8E 8880
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Q133) DPSTAND DFANN DAY, DBV TITIND DS DeIB0H
ISTOIOINN)

Ans: ©3T°0S8T°500

Q134) H50TN DO
Ans: 0N Q0H

Q135) B! 502X BOSNBET &8 FE50S° ©0005T) HBotod
Ans: O0NO05E0

Q136) Z0S TS NBYPYET BOM &0A. Y0NS’ @O0
Ans: GOPO05E0

Q 137 aH0D Q 139: &: (80O Senth Hrerdy esoffosS evdo HBosobH

Q137) Sr(ed

Ans: Director

Q138) &
Ans: Moon Shine

Q139) doko
Ans: Horse

Q 740 H0) Q 143: &: (806 00 HTToB BentheS’ edo HBos0

Q140) Obviously
Ans: J)Q0

Q141) Crisis
Ans: Ho§%250

Q142) Street Light
Ans: D& BHo

Q143) Dictionary
Ans: Q00N
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Q144) 30D)) ®OT
Ans: 20080 )TN0

Q145) D52 & €0
Ans: $Q02PO DSAFSOMP R 880730

Q146) (33" - OBS D) TR0

Ans: &s5%ven

Q147) 808 ¢3S’ HBS DT, H80h0d
Ans: T~z S$TBEOMT 0T &

Q148) "T°50 TBNEY 2760” &S° 'TBNEY’ A & D258 (55000

Ans: 32 D258

Q149) T3 300N FOPO EBAIEY’ 0Ty
Ans: QD )O°B0

Q150) AEE E50
Ans: & T3
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